Issue 5-06 E

+s- ROEMHELD B 1.509

Block Cylinder
single acting with/without spring return, double acting
max. operating pressure 500 bar

Construction with ROMHELD Block Cylinders
The solution for many manufacturing tasks

The hydraulic block cylinders have been successfully used in thousands of
hydraulic workholding applications. Block cylinders are also used as compo-
nents in the construction of machines and moulds for functions like

Positioning Riveting Moving
Clamping Bending Swivelling
Supporting Opening Lifting

@ @ @ Locking Closing Pulling

On these data sheets there is the
® Large force range

Piston @ 16 mm and 100 bar 2 kN Romheld Block Cylinder Programme
Piston @ 200 mm and 500 bar 1570 kN
B1.509 B 1.509
. Block cyli
® Large stroke range 8-200 mm Block cylinder single u;’.‘t’o %g‘fne; S
. . . or double acting with
@ Position monitoring 4 additional mounting

- at the rear (see data sheet B 1.552) holes, pipe thread
- laterally (see data sheet B 1.554)

) B 1.554
® Compact design Aluminium block cylinder e
Block cylinder
by large force density double acting with double acting
lateral position piston rod with
@ Sealing with little leakage monitoring, adjustable outer thread

magnetic sensors

® Many variants
and individual adaptation possibilities

B 1.550
Block cylinder
double acting,
spherical bearing
eye mounting

® Special versions
In cases where it does not seem possible to
find a solution with the Rémheld standard
programme, there are numerous special
versions available.
Please contact us!

@ Operation of core pullers

B 1.552 B 1.509
B 1-738 Block cylinder ~ Block cylinder Block cylinder for B1.570 )
Block cylinder  ginqe or double acting, manifold mounting, Pull-type cylinder
double acting double acting ~ position moni- O-ring sealing at the single acting with
with guide in special toring at the rear, piston rod side spring return
housing versions with extended

piston rod

Subject to change without notice



+s+ ROEMHELD

Technical data

Fixing possibility

74

==
©:

S ==
——
l r— - ———— i

‘Hfmg 7 7777777 @ =
——
Lrr———————— 1]

Cylinders must be backed up for operating
pressures exceeding 160 bar

H

o
o
"

é

Dimensions

Contact bolts

For 1611-, 15613- and 1514~
1541-, 15643- and 1544- only

see data sheet G 3.800 ~
SW Vent plug with
B r sintered metal
T ‘ Hj FF air filter
! (for s.a. version)
>< o
T T T T T T T
‘ L\ B \J c L\ B \J 1T \J
ad
L L - Ll
-1 r 11 N2
o } } Re ] ] | |
o« |11 B | ||
- i e f Ly ‘ ‘ ‘ ‘ ‘
Z \ [ ‘ ‘ [T 9
(]
BRE | | | 1] || | | ]|
ol L1 SR
ol L1 | | ||
= = @D —
F 4. C = L = ¢7 | | ﬁ%\,,\
] [ E \ ) 11
L | | : | LN |
a only for B
160 mm
and 200 mm K
stroke
4 mm at G1/4 o g = b
5mmat G1/2 T R =max. 2 mm
©
_ AN
/@)\ ;
ﬂi ~@+% é} {iﬂ\
g Counterbore for socket head cap screw DIN 912
IS For 160 and 200 mm stroke, mounting
© s threads at both ends (see chart)

Bleeding of the cylinder’s interior of
single-acting versions

If there is a possibility that cutting lubricants
and coolants penetrate through the sintered
metal air filter into the cylinder’s interior, a vent
hose has to be connected and be placed in a
protected position, see data sheet A 0.110.

ﬁ ' i
e |

For this purpose the sintered metal air filter
has to be exchanged by an insertion nipple
fitting, see data sheet J 7.400,

or a corresponding male connector, see data
sheet F 9.300.

General characteristics

Tolerances for length angle dimensions refer to
DIN 7168-m

Piston material: casehardening steel, hardened
Cylinder body: high-alloy steel C 45 K
Operating conditions and other data see data
sheet A 0.100.

Type of connection / oil supply

@® Pipe thread connection
see page 2 + 3

=34
=34

-

@

® Manifold mounting with O-ring sealing
see page 4

[
r | T
L\iiH L\”\J
[ |1
I |1
[1] | |
I e
[
i
W g AL
|

2
B 1.509/5-06 E

Subject to change without notice



+s- ROEMHELD

Versions with pipe thread

Piston @ D [mm] 16 25 32 40 50 63 80 100 125 160 200
Rod @ d [mm] 10 16 20 25 32 40 50 63 80 100 125
Force 100 bar [kN] 2.0 4.9 8.0 12.6 19.5 31.2 50.4 78.4 122.7 201 314
to push at 500 bar [kN] 10.0 24.5 40.2 62.8 98.5 156.0 252.0 392.0 613.5 1005 1570
Force 100 bar [kN] 1.2 2.9 4.9 7.7 11.6 18.6 30.6 47.4 72.4 122.5 191
to pull at 500 bar [kN] 6.1 14.5 24.5 38.3 57.9 93.0 1563.2 236.8 362 612.6 957
Spring return force*, min.  [N] 50 140 195 270 410 430 760 1200 - - -
Oil volumen/10 mm stroke
Stroke to extend [em3] 2.01 4.91 8.05 12.56 19.63 31.17 50.26 78.54 122.7 201 314
Stroke to retract [cm3] 1.2 2.9 4.9 7.7 1.6 18.6 30.6 47.4 72.4 122.5 191
a [mm] 60 65 75 85 100 125 160 200 230 300 380
b [mm] 35 45 55 63 75 95 120 150 180 230 300
© [mm] 6 (7)** 7 10 10 10 14 14 15 16 22 28
f [mm] 30 50 55 63 76 95 120 158 180 230 300
g [mm] 6.5 8.5 10.5 10.5 13 17 21 25 32 39 52
h [mm] 30 33 38 40 44 50 60 64 82 92 112
k [mm] 17.5 22.5 27.5 &l SIS 47.5 60 75 90 115 150
m [mm] 11 11 11 11 13 17 21 25 31 39 51
n [mm] 16.5 18 22 24 27 26 34 35 47 58 68
0 x depth of thread [mm] M6x12 M10x15 M12x15 M16x25 M20x30 M27x40 M30x40 M42x60 M48x70 M56x80 M72x100
p G1/4 G1/4 G1/4 G1/4 G1/4 G1/2 G1/2 G1/2 G1/2 G1/2 G3/4
r [mm] - - - 4 4 4 5 6 8 10 12
s [mm] 40 50 55 63 76 95 120 1568 180 230 300
t [mm] 22 30 35 40 45 65 80 108 130 160 220
R [mm] 2 2 2 2 2 2 2 = = =
SW [mm] 8 13 17 - - - - - - - -
| Single acting with spring return
Stroke +1 [mm] 8 8 10 10 12 12 12 12 - - -
Total length | +1 [mm] 62 71 85 89 100 116 131 145 = = =
Weight [kal 0.8 1.2 1.8 2.6 3.8 6.7 12.8 24.0 - - -
Part-no. 1511-005 1513-005 1514-105 1515-005 1516-005 1517-005 1518-005 1519-005 = = =
Stroke +1 [mm] 20 20 20 20 20 25 32 32 - - -
Total length | +1 [mm] 97 101 110 114 125 149 179 205 = = =
Weight [kal 0.86 1.9 2.7 3.6 5.25 9.75 19.8 37.0 - - -
Part-no. 1511-025 1513-025 1514-125 1515-025 1516-025 1517-035 1518-045 1519-045 - - =
| Single acting without spring return
Stroke *1 [mm] 16 20 25 25 25 30 32 40 - - -
Total length | +1 [mm] 62 71 85 89 100 116 131 145 - = =
Weight kal 0.8 1.2 1.8 2.6 3.8 6.7 12.8 24.0 - - -
Part-no. 1511-015 1513-015 1514-115 1515-015 1516-015 1517-015 1518-015 1519-015 = = =
Stroke +1 [mm] 50 50 50 50 50 63 80 100 - - -
Total length | +1 [mm] 97 101 110 114 125 149 179 205 - - -
Weight kal 0.86 1.9 2.7 3.6 5.25 9.75 19.8 37.0 - - -
Part-no. 1511-065 1513-065 1514-165 1515-065 1516-065 1517-075 1518-085 1519-095 = = =
| Double acting
Stroke +1 [mm] 16 20 25 25 25 30 32 40 40 40 -
Total length | +1 [mm] 62 71 85 89 100 116 131 145 166 190 -
Weight [kal 0.8 1.2 1.8 2.6 3.8 6.7 12.8 24.0 39 85 -
Part-no. 1541-105 1543-105 1544-105 1545-105 1546-105 1547-105 1548-105 1549-105 1550-105 1551-005 -
Stroke +1 [mm] 50 50 50 50 50 63 80 - - - -
Total length | +1 [mm] 97 101 110 114 125 149 179 - - - -
Weight [kal 0.86 1.9 2.7 3.6 5.25 9.75 19.8 - - - -
Part-no. 1541-165 1543-165 1544-165 1545-165 1546-165 1547-175 1548-185 - - = =
Stroke +1 [mm] 100 100 100 100 100 100 100 100 100 100 100
Total length | +1 [mm] 150 151 160 164 175 186 199 205 226 250 288
Weight [kal 1.6 3.1 4.5 5.6 8.15 13.2 22.8 37.0 54 110 -
Part-no. 1541-195 1543-195 1544-195 1545-195 1546-195 1547-195 1548-195 1549-195 1550-195 1551-095 1552-095
Stroke +1 [mm] - 160 160 160 160 160 160 160 160 160 160
Total length | +1 [mm] = 214 223 227 238 250 263 269 290 314 3562
Thread x depth [mm] - M8x12 M10x15 M10x15 M12x18 M16x24 M20x30 M24x36 M30x45 M36x54 M48x75
h1 [mm] - 26 27 27 30 41 47 54 66 77 95
Weight [kal -
Part-no.*** - 1543-110 1544-110 1545-110 1546-110 1547-110 1548-110 1549-110 1550-110 1551-110 1552-110
Stroke +1 [mm] - - 200 200 200 200 200 200 200 200 200
Total length | +1 [mm] - - 263 267 278 290 303 309 330 354 392
Thread x depth [mm] - - M10x15 M10x15 M12x18 M16x24 M20x30 M24x36 M30x45 M36x54 M48x75
h1 [mm] = = 27 27 30 41 47 54 66 77 95
Weight [kal - -
Part-no.*** = - 1544-111 1545-111 1546-111 1547-111 1548-111 1549-111 1550-111 1551-111 1552-111
Part-no. for version with FKM seals *only for version *** Version: FKM seals

15XX-XX6 FKM seals for temperatures

over 100 °C until max. 150 °C

- single acting with spring return -
**at 1541-16X and 1541-19X
15611-02X and 1511-06X

two additional cross holes (dimension h1)

without mounting holes

4 mounting threads at both ends (see chart)

B 1.509 /5-06 E

Subject to change without notice



++ ROEMHELD

Versions for manifold mounting
with O-ring sealing

- Connecting dimensions -

Oil supply and O-ring sealing at:

Ra=0,8

Block cylinder 15X1-XXX
Piston @ 16
Rod @ 10
a 60
b 35
© 6
f 30
g 6.5
h 30
h1 24.5
S 40
t 22
u =+ 0.05 1.1
v1 extend 3.5
V2 retract 3.5
w + 0.2 9.8
X 7
y 20.5
Dimensions O-ring 7x1.5
Part-no. O-ring 3000-342
Part-no. O-ring (FKM) 3001-077

*Rework of existing cylinders S and B is
possible, because there are no cross hol

With strokes of 160 and 200 mm no longi-

tudinal mounting holes, instead mounting
at both ends (see chart, page 3).

O-rings are included in delivery.
Other dimensions see page 2 and 3.

The following block cylinder versions are
suitable for manifold mounting with O-rin
B 1.542, B 1.570, B 1.552 and B 1.554

broad side broad side
“short stroke” (16-40) “long stroke” (50 and more)
K L
(1] [11 (1]
i 11—l
[ B N [ Il [
] % R
V2
(&} = {’ w -
fl 2 > $ ™ retract
T - oL
C) retract |
- o | &
- : ‘
Jlw ’ L ’

extend

Ra<0,8

15X3-XXX 15X4-XXX 15X5-XXX

25 32 40

16 20 25

65 75 85

45 55 63

7 10 10

50 55 63

8.5 10.5 10.5

33 38 40

26 27 27

50 55 63

30 B 40

1.1 1.1 1.1

4 5 6

4 4.5 4.5

9.8 9.8 9.8

7.5 10 10

21 25 27

7x1.5 7x1.5 7x1.5

3000-342 3000-342 3000-342

3001-077  3001-077  3001-077
not Order:

€s.

thread

1. Example of ordering:

rod side

S*

SNEATS

I
Ra=0,8 1

'

15X6-XXX
50

32

100

75

10

76

13

44

30

76

45

1.1

6

6

10.8

13

29.5
8x1.5
3000-343
3000-275

15X7-XXX
63

40

125

95

14

95

17

50

41

95

65

1.5

8

6

13.8

16

32

10x 2
3000-347
3001-078

15X8-XXX
80

50

160

120

14

120

21

60

47

120

80

1.5

8

8

13.8

21

39

10x 2
3000-347
3001-078

bottom side

B*

s/2

15X9-XXX
100

63

200

150

15

158

25

64

54

158

108

1.5

8

8

13.8

25

40

10x2
3000-347
3001-078

Double-acting block cylinder 1545-105 with oil supply at the broad side
(For delivery without 4 mounting holes. Last digit 5 becomes 0)
Part-no. 1545-100-K

2. Example of ordering:

gs:

Part-no. 1513-025-S

Single-acting block cylinder 1513-025 with oil supply at the rod side

Ra=<0,8

1550-XXX
125

80

230

180

16

180

32

82

66

180

130

1.5

8

8

13.8

31

47

10x2
3000-347
3001-078

Please add the identification letters K, L, S or B to the part-no. of the required block cylinder.

4
B 1.509 /5-06 E

Subject to change without notice




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialUnicodeMS
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


